naturoled’

SCM Slim Canopy - 60W/80W/100W

Installation Guide
V1.1
1of4

A WARNING/ADVERTENCIA/AVERTISSEMENT

To reduce the risk of electrical shock, fire, or
injury to persons; read and follow all
warnings and installation instructions before
installing. All installation should be
performed by a qualified electrician.

Risk of Electric Shock

Ensure power is off before installation or
inspection. All wirings are performed in
accordance with Electrical Code and local
electrical code.

Risk of Fire
Fixtures are rated for use in 120-277V, 50-60Hz
protected circuit and 90°C rated supply wire.

Para reducir el riesgo de descarga eléctrica,
incendio o lesiones a personas, lea y siga
todas las advertencias e instrucciones de
instalacion antes de realizarla. Toda instalacion
debe ser efectuada por un electricista
cualificado.

Riesgo de descarga eléctrica

Asegurese de desconectar la corriente antes
de la instalacion o inspeccion. Todos los
cableados se realizan de acuerdo con el
Codigo Eléctrico y el codigo eléctrico local.

Riesgo de incendio

Las luminarias estan clasificadas para su uso
con 120-277V, circuitos protegidos de 50-60
Hz y cables adecuados para 90°C.

Lisez et suivez les instructions d'installation
et les avertissements avant |'installation.
Toute l'installation doit étre exécutée par un
électricien qualifié, pour réduire les risques
de choc électrique, de feu ou de blessures
corporelles.

Risque de choc électrique

Assurez-vous que le courant soit coupé avant
Iinstallation ou I'inspection et que tout le
cablage soit effectué en conformité avec le
code d'électricité et le code local d'électricité.

Risque de feu

Les luminaires sont congus pour une
utilisation de 120 & 277V, pour un circuit
protégé de 50 a 60 Hz et pour une source
d'alimentation de 90°C.

FORYOUR SAFETY

While performing installations described,
gloves, safety glasses or goggles should be
worn.

PARA SU SEGURIDAD

Mientras realice las instalaciones descritas,
se recomienda el uso de guantes y gafas
de seguridad.

POUR VOTRE SECURITE

Vous devriez porter des gants et des verres
de protection lors des installations
detaillees.

Install this kit only in the luminaire that have
the construction features and dimensions
shown in the photographs and/or drawings.
Do not make or alter any open holes in an
enclosure of wiring or electrical components
during kit installation.

To prevent wiring damage or abrasion, do
not expose wiring to edges of sheet metal or
other sharp objects.

Do not alter, relocate, or remove wiring,
lampholders, power supply,
or any other electrical component.

SUITABLE FORWET LOCATIONS.

Instale este kit solo en la luminaria que tiene las
caracteristicas de construccion y dimensiones
que aparecen en las fotografias y/o dibujos. No
realice ni altere los agujeros abiertos en un
recinto de cableado ni en cualquier componente
eléctrico durante la instalacion del kit.

Para evitar dafios en el cableado o abrasiones,
no exponga el cableado a hojas de metal
laminado u otros objetos cortopunzantes.

No altere, reubigue o elimine cables,
portaldmparas, tomacorriente o cualquier otro
componente eléctrico.

APTO PARA LUGARES HUMEDOS.

Installez cet ensemble seulement dans un
luminaire qui possede les caractéristiques de
construction et les dimensions telles que
démontrées sur les photographies et/ou dessins.
Ne pas percer de trous ou modifier les trous
existants dans un boitier ou des components
électriques durant I'installation de I'ensemble.

Pour prévenir les dommages ou |'abrasion, ne pas
mettre en contact le cablage avec des bords de
plaques de metal ou tout autre objet coupant.

Ne pas modifier, délocaliser ou enlever du céblage,
des supports de lampes, une source
d'alimentation ou tout autre composant électrique.

CONVIENT AUX ENDROITS HUMIDES.

This is important with an uneven wall surface.
Silicone all plugs and unused conduit entries.
For wet location compliance, fixture must be
properly sealed. For moisture seal, apply
silicone caulking between the mounting surface
and back housing, as well as around the sides
of the housing.

Esto es importante con una superficie de pared

irregular. Silicona todos los tapones y entradas de

conductos no utilizados.
Para cumplir con la ubicacién himeda, el

accesorio debe estar sellado adecuadamente. Para

sellar contra la humedad, aplique sellador de

silicona entre la superficie de montaje y la carcasa

trasera, asi como alrededor de los lados de la
carcasa.

Ceci est important en cas de surface murale
inégale. Siliconez tous les bouchons et entrées de
conduits inutilisés.

Pour étre conforme aux emplacements humides,
le luminaire doit étre correctement scellé. Pour
assurer |'étanchéité a I'humidité, appliquez un
calfeutrage au silicone entre la surface de
montage et 'arriere du boitier, ainsi que sur les
cotés du boitier.

INSIDETHE BOX

Slim Canpoy
(60W/80W/100W)

Plusrite USA
2000 S. Grove Ave, Bldg B
Ontario CA 91761

T:909-930-6868
T:888-758-7443
F:909-930-9988

www.naturaled.com



LED Slim Canopy

1 Unpacking
1. Thoroughly inspect the fixture for freight

Installation Guide
V1.1
20f4

Reminder: make sure the power is off

Recordatorio: asegurese de que la energia esté apagada.

Rappel: s’assurer que le courant est coupé.

2 Installation
e Surface Mounted with J-box

1.Loosen the screw on side of the fixture, removing 2. Install the bracket on J-box, and put the wire
through the central hole for wiring.

the bracket from Canopy fixture by pulling it slightly
out, just leaving the ring on bracket.

Suelte los tornillos en el lado del dispositivo de fijacion,
tiresuavemente del soporte y retire el soporte del
dispositivo de fijacion deldosel, dejando solo el anillo en el

soporte. Installez le support sur la boite de jonction et faites passer
le fil atravers le trou central du cablage.

Desserrez les vis sur le cot de la fixation, tirez doucement
sur lesupport, retirez le support de la fixation de la
canopee, laissezsimplement la bague sur le support.

Coloque el soporte en la Caja de cableado y pase el cable
a traves delagujero central del cableado.

damage. Freight damage should be reported to the delivery carrier.

3. Attach the Canopy fixture with bracket by putting  4.Slide the Canopy fixture into bracket, and secure
the ring on clips again. Connect the Black wire for

the screw on side of the fixture to prevent the fixture

Line, White for Neutral, Yellow/Green for Ground. slide out from the bracket. Installation done.

See wiring diagram for details

diagrama de cableado.

Connectez le dispositif de fixation de la canopee au
support enpoussant a nouveau la bague sur le clip.

Al empujar el anillo de nuevo sobre el clip, conecte el
dispositivo defijacion del dosel al soporte. Conecte el cable fije los tornillosen el lado del dispositivo de fijacion para
negro a la linea, el cableblanco al punto neutro y el cable
amarillo / verde al suelo. para masdetalles, consulte el

Deslice el dispositivo de fijacion del dosel en el soporte y

evitar que el dispositivo defijacion se deslice del soporte.
La instalacion esta completa.

Faites glisser les fixations de canopee dans le support et
fixez les vissur le cote des fixations pour empecher les
fixations de glisser hors dusupport. Linstallation est

Connectez le fil noir a la lignele fil blanc au neutre et le fil terminee.
jaune / vert a la terre. Voir le schema decablage pour plus

de details.GroundSee wiring diagram for detailsConnectez

le dispositif de fixation de la canopee au support en.

* Pendent with 3/4Xinch Pole

1. Loosen the screw on side of the fixture, removing the
bracket from Canopy fixture by pulling it slightly out, just
leaving the ring on bracket. ( See the Step 1 above)
Suelte los tornillos en el lado del dispositivo de fjacion, saque
suavemente el soportedel dispositivo de fijacion Canopy y deje el anillo
en el soporte. (vease el paso 1anterior)

Desserrez les vis sur le cte de la fixation et tirez doucement le support
hors de lafixation Canopy, laissant la bague sur le support.
(voir tape 1 ci - dessus)

3 Adjustable Wattage and CCT

Unscrew the switch to adjust the wattage and CCT

2. Connect the wire from pole with Canopy, Black wire
for Line, White for Neutral, Yellow Green for Ground.
See wiring diagram for details

Conecte los cables del poste al toldo, los cables negros indican la linea,

los blancosindican el punto neutro y los amarillos y verdes indican el
suelo. para mas detalles.consulte el diagrama de cableado.

Connectez le fil du poteau I'auvent, le fil noir indique la ligne, le blanc
indique leneutre et le jaune - Vert indique la mise a la terre. Voir le
schema de cablage pour plusde details.

M=
i

3. Screw the pole into the hole on top of Canopy fixture.
Installation done.

Atornillar el poste telefonico en el agujero en la parte superior del
dispositivo de fjaciondel dosel. La instalacion esta completa.

Vissez le poteau lectrique dans le trou situe sur le dessus de la fixation
de la canopeelL 'installation est terminee.

4 Wiring Diagram

(Default: Wattage-100W; CCT-5000K). When set down, screw back the switch.

Tl
=

o ] - '
WImmm

Hot Line(L) n Black

Neutral (N)

n White/Black

Ground (G)

n Yellow/Green

DIM(+) p Purple

Light Fixture

12V(-)/DIM(-) 5 Pink

12V(+) o White/Black




Installation Guide

T V11
Sensor Wiring Diagram 3 of 4

SENSOR

(Black/White) (Purple) (Pink)
12V+ DIM+ DIM-

4, 4,

12V+ DIM+ DIM-
(White) (Purple) (Pink)
LED Driver
ﬂ v T 2 ?
T ]
] v ?
9
Turn off the power supply, unscrew the screws to remove the PC lens. Remove the reflector.
Apague la energia y desenrosque los tornillos para quitar la lente del ordenador. Retire el espejo.
Eteignez I'alimentation et Dévissez les vis pour retirer la lentille de I'ordinateur. Retirez le miroir.

W
Fix the sensor to reflector with (2)M3*13 screws. Connect wires according to the wiring diagram.

f Fije el sensor al reflector con (2) tornillos M3*13 . Conecte los cables eléctricos de acuerdo con el mapa de cableado.
Fixez le capteur au réflecteur avec (2) vis M3*13. Connectez les fils selon le schéma de cablage.

Mount the refector to the fixture. Install PC lens and lock with screw.
Instale la placa reflectante en la pinza. Instale la lente de la computadora y bloquee con tornillos.

Installez la plaque réfléchissante sur la pince. Installez la lentille de I'ordinateur et Verrouillez - la avec des vis.




Installation Guide

V1.1
15W Emergency Driver Wiring Diagram( 60W/80W/100W ) 4 of 4
0
Black Black
ACL LED- |Black
White I
Switch LED drive power supply LED light source
. —AC N LeD+ [Red Red ..
L 0]
DRIVER+
Black Black — N DRIVER-
L LED-
= . Emergency LED
N White E White driver with battery =~ LED+
YeIIowIQreen S Yellow/Green
Test Switch
Battery Open the fixture, put in the emergency power supply and battery,

Emergency power supply

and lock with 4 pcs of M4*6 round head screws.

Encienda el cuerpo de la lampara, coloque la fuente de energia de
emergencia y la bateria y cierre con 4 tornillos de cabeza circular M4*6.
Allumer le boitier, mettre en place une source d’énergie de secours

et une batterie et verrouiller avec 4 vis a téte circulaire M4*6.

Fije el botén indicador

correspondant, en veill

Indicator button

Rubber O-ring

Install the light button of emergency power on the corresponding hole, and make sure that
the light button has o-ring.

correspondiente para asegurarse de que el boton indicador tiene una bobina de goma tipo O.
Fixer le bouton indicateur de I'alimentation électrique de secours a la position de l'orifice

de la fuente de energia de emergencia en la posicion del orificio

ant a ce qu'il y ait une bobine de type O sur le bouton indicateur.

Install the reflector plate on the housing with 4pcs of M4*6 round head screws.
Instale la placa reflectante en la carcasa con cuatro tornillos de cabeza redonda M4 * 6.

Monter la plaque réfléchissante sur le boitier avec 4 vis a téte ronde M4 * 6.

i
}\ M4*14 round head screws.
| 12pcs

PC lens

Close the PC lens and lock it with 12pcs of M4*14 round head screws.
Cierre la tapa de la PC y cierre con 12 tornillos de cabeza redonda M4*14.
Fermer le boitier PC et le verrouiller au moyen de 12 vis a téte
circulaire M4*14.

Connect the power cord and install it on the wall.
Conecte el cable de alimentacion y fije en la pared.
I suffit de connecter la ligne d’alimentation et de la fixer a la paroi.




